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Example Factor Trinomials of the Form ax? 4 bx+cas :
Factor, if possible. o) +%+5 (v, 9) o
a)x*+5x+4 o | X7 vUY by vy
b) x? + 4X + 6 (% & V(xS TR

c) x* — 29x + 28

d) x* 4+ 3xy — 18y? .
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Example 2 Factor Trinomials of the Form ax® + bx+ ¢, a# 1
Factor, if possible.

a)3x’+8x+ 4 b) 6x° — 5xy + y*

) 3x* + 2x + 4 d) 24x* — 30x — 9)3

)+ % & G Gx)v( 2 x¥4) ¥ )3 t2)

¥ =R e G (2 +2) 3% 42X vox HY
<\ 3
2,6 (xx2)(3%+2) g
= G 2R )(-27(’ }

By AsEes (v -BK\/W*L'Z"”)*‘)) : 2 /;’ \
x *+ 6\® S L7_)(_\0\ ox ‘3’“‘3- i\\‘
T s %)((Z)("‘"Bw 4) =(o)(z -57“3““3

2t (Bx-¢ 2%-W)
QO +o>2 YU w\ )

\’>\(onb 2 3(2x* ~\0 X - 2) 3(Bn 4 27 2% -3)

a) 3[(%)(2\-?,x\+(“\7.»< —’ﬂ\] BLS”‘"‘Q"‘E)

-2 ADme el = aa t_29x -9
F 2[ 2x( 24¢
AT P (LD

T —

—<—

Example 3 Apply Factoring

The world famous Devil’s Cauldron is the 4th hole at the Banff
Springs Golf Course. This is a tough tee shot from an elevated tee
that must carry the ball across a glacial lake to a small bowl green.
The approximate height of the ball during a typical shot can be
represented by the formula h = =5 + 25¢ + 30, where

t is the time, in seconds, and h is the height of the ball

relative to the green, in metres.

a) Write the formula in factored form.

b) What is the height of the golf ball after 2.5 s?
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